Accessories — 3 1/4" Products GGRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3A
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

Receptor Clip
m 200205 340545
i
\\
; s [ &g
| S
! )
1 N
| =
___________ N n
p‘]_l': ““““““ =) 200100 ﬂ
||:J:\ ! _ﬂ
.———:%5::}7’_0 g} |
L 1

1/16" — ]| |me—o
:ﬂ_
B
d

Receptor & Clip

Receptor Clip
Stack Mull 200110\ /340545

3 1/4" Qg
/4 + SE
[aV]
SR
200201 .
Receptor & Clip
/990642
| 1/16"»1‘«
Attachment k= e e T =T |
Angle [N Iz
P/N 929308 i gt
Attached With ” ”
#10 Min. 1 1
I i
Screws ” ”
(By Installer) i i
II.LI.I I'|_|“
:::::'TE_:'“ F',_:EI_F:::::_‘!}— - L'LL:::::_TE_:.a
1D (@l )
) 3 9
3 Yy S
S | B | e — 4 iC L b
/ \200102
200203 - 3/4” Max.
(1/2” Min.)
2 1/2”
3 Piece Mull 1/16" Mull

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.

1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0423 — AC.03A
Web Site: www.grahamwindows.com



Accessories — 3 1/4" Products GGRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3B
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

Note: Not All Options Are Shown, Contact Graham For Other Options.

200031 - 1eooat
120010\ v (=
Ix=.9233
Iy=.2194 I Ix=.6956
030030 | |4 I ly=.0528
Iy
Ix=.9385
Ix=.6407 Iy=.2081
Iy=.0279
™ -l
1200 Series With 2000 Series 0300 Series With 1200 Series
202031
\ — 202030
1x=1.4863

Iy=.7489

200105
Lx=1.3799
Iy=.6438
Ir r

L [ ==
n Iy I
I
P
&)
T:;J
L
ri
. ) . x=2.117
2000 Series With 2000 Series 1y=2.063
Jan Jan \
N N XA
Q)
UL (i
120010\‘ \ ! //< ,u
gi:gig? Attachment Angle IJI u
P/N 926688 (Head End) I !
P/N 926689 (Sill End) i eI
Attached With #10 Min. & L= | (S [
Screws B
(By Installer) D
N
Attachment Angle
L= b/N 926676 (Head End)
AN P/N 926677 (Sill End)
& Attached With #10 Min.
Ix=.0526 Screws
g Iy=.6357 (By Installer)
200011/
1200 Series With 2000 Series 90° Corner Mullion

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.

1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.03B
Web Site: www.grahamwindows.com



Accessories — 3 1/4" Products

(5 GRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3C
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

\
\

K

= e
End Cap P/N 922109 -

Attached With
#6 x 3/4 PH PN LP 410

P/N 939097

\

End Cap P/N 928162
Attached With

#6 x 3/4 PH PN LP 410
P/N 939097 y

990050

pd _
v - Sill Starter

End Cap P/N 920054
Attached With

#6 x 3/4 PH PN LP 410
P/N 939097

High Performance 10 PSF
Sill Starter

23

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.
1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.03C
Web Site: www.grahamwindows.com



Accessories — 3 1/4" Products
Self—Mull Options {5 GRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3D
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

Note: Not All Options Are Shown, Contact Graham For Other Options.

200310\ /200311

1x=.0271 1z=.0563
Iy=.5835 Iy=.6687

= 7

1200 Series With 1200 Series

1x=.7916
Iy=.2549

/ 200330

200311 \

1x=.0563
Iy=.6687

=

1200 Series With 2000 Series

L=0271 200310
Iy=.5835
i

"
Q{ x=.0563 \ 200311
Iy=.6687

1200 Series With 2000 Series
Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.

1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.03D
Web Site: www.grahamwindows.com



Accessories — 3 1/4” Products GGRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3E

Drawing 1/2 Scale — For Custom Size Drawing Contact Graham
Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

Receptor
600101

Clip
/ 340545

w
N
- i Attachment
in - Angle
o P/N 929308
Attached With
#10 Min.
Screws
850147 v
Stack Mull gg (By Installer)
ST
SN
o
Receptor & Clip
O
Attachment Angle
P/N 929308
Attached With
#10 Min. Screws
(By Installer)
¥
— 600118 R
; Stack Mull 600102 Sill Starter g
(o]

Attachment Angle
P/N 929308
Attached With
#10 Min. Screws
(By Installer)

9/16"

Sill Starter

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.
1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0624 — AC.03E
Web Site: www.grahamwindows.com


AutoCAD SHX Text
-

AutoCAD SHX Text
Receptor & Clip

AutoCAD SHX Text
Receptor 600101

AutoCAD SHX Text
Clip 340545

AutoCAD SHX Text
Sill Starter

AutoCAD SHX Text
600102

AutoCAD SHX Text
Accessories - 3 1/4" Products

AutoCAD SHX Text
Accessories

AutoCAD SHX Text
AC03E

AutoCAD SHX Text
0624

AutoCAD SHX Text
AC.03E

AutoCAD SHX Text
Attachment Angle P/N 929308  Attached With  #10 Min. Screws  (By Installer)

AutoCAD SHX Text
Attachment Angle P/N 929308  Attached With  #10 Min. Screws  (By Installer)

AutoCAD SHX Text
Note: Sealant Not Shown On Details. Refer To General Installation Instructions. Sealant Not Shown On Details. Refer To General Installation Instructions.

AutoCAD SHX Text
Series:

AutoCAD SHX Text
Manufacturing Code:

AutoCAD SHX Text
Drawing 1/2 Scale - For Custom Size Drawing Contact Graham

AutoCAD SHX Text
850147 Stack Mull

AutoCAD SHX Text
600116 Stack Mull

AutoCAD SHX Text
Sill Starter

AutoCAD SHX Text
678006

AutoCAD SHX Text
Attachment Angle P/N 929308  Attached With  #10 Min. Screws  (By Installer)


Accessories — 3 1/4 Products GGRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3F

Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

‘ I
o 600104
2 [
le]
! |
\
\
\
I -
I m
LR T
1 <00106 Stack Mull — Strutted
N l
N
Stack Mull — Heavy Wall
/ﬁ
(f
N
G S *
\ U .
\ - }\ o 600115
! >
\
\

— J——
Il Il
o
P Stack Mull — SR6700
(>
T T
? } } 200265
| |
|
|
|
L ——

Stack Mull — Strutted

1/16" —| |a—

Stack Mull — SR6700

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.
1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.03F
Web Site: www.grahamwindows.com



Accessories — 3 1/4 Products GGRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3G
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

Attachment Angle
P/N 929308 990643

Attached With

#10 Min. Screws

990642
(By Installer) [

Agggw&rﬂ
1
51—
|

A

—

t

|

gl

R

SR

675515
e ‘F/E
1 D N
i Mull — SR6700 Strutted === =
/ 3/4" Max.
600105 =" 1/2” Min.
/43 ,
% | 21/2
.
Imq i ———=—nr1l .
I M@@w e \} 3 Piece Mull
i |
i I
Il \}
Il |
\ﬂ ﬂ\
_ 53
Stack Mull 5 ¢ Face 670124

5 3/4”

200204

}U U"} 5’ Mullion — SR6700

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.
1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.03G
Web Site: www.grahamwindows.com



Accessories — 3 1/4 Products GGRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3H
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

/ 2001083 "H” Mullion — 1 §" Face

| |~—1/8"

|l 1/16"

200104
"H” Mullion — 2 1" Face H" Mullion — 4" Face /

e — ~——— — — —

200226

7/8" 2 1/2" 7/8"

Attachment Angle
P/N 929308
Attached With
#10 Min. Screws
(By Installer)

I
Il/l\‘ (s
620102 (Rx)
Receptor Mullion
3/4" max
1/2"” min
! 4

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.

1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.03H
Web Site: www.grahamwindows.com



Accessories — 3 1/4" Products

(5 GRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3I
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

Vertical Tube Mull SR6700 - 6 }”

Transition Mull SR6700 — GT7700

/ 678002
EEEEL,

\ 678001

Y Transition Mull SR6700 — GT7700
Vertical Tube Mull SR6700 — 4 §

/ 678004

678003

—=|5/8" |~

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.
1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.031
Web Site: www.grahamwindows.com



Accessories — 3 1/4" Products

(5 GRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3J
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

/ 620241

; 3 e

/ 675072

999071

675504

5/8" 2 3/4" 5/8"

——

3 Piece Mull — SR6700

3 Piece Mull — 2 " Face

/ 852831
L

| Il
‘ |
! |
== E=
‘<E Lﬂﬂ
N I~ al ey
\EJ\::: 7777 - l :ziiiiii\:ﬁ/
1
ﬁ 200119
3/4" max 3 Piece Mull — Stepped 7" Face 3 3/4” max
1/2” min > 1/2" min
-1 1/2" —=|

o

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.
1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.03J
Web Site: www.grahamwindows.com



Accessories — 3 1/4 Products GGRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3K
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

650119
670271 675502
999690 /
T‘ r
@
\
[Te)
& -
a w
< N
- -
Ll
o [+2]
] ®
J o
[Te]
5/8" |~=— —15/8" AJ// f
/ / 675505
| 4

Vertical Mullion — 4" Face Horizontal Mullion

990642

/ 678010

/2" —— |=—

— =172

Vertical Mullion — 2 §" Face

21/2"

. Vertical Tube Mullion — 2 §" Face . . - . . .
Graham Architectural Prol;t{lucts reserves the rlginé to cﬁange, add, cancel, remove or otherwise modify the details illustrated without prior notice.

1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274

0223 — AC.03K
Web Site: www.grahamwindows.com



Accessories — 3 1/4 Products GGRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3L
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

1
If
IL__ "‘3
iU ME======5rx ﬁ_ ———— ==
g 7T —:@ﬁ;“‘_ e
Ir L f
’l 1 L? = |
|
= ===
] =
200250 [{“ Eﬂ
I I
i I
i I
1 I
| |
o) '
€I €3
2 %
)l / \ !
e Al =2
Tl
/ \ —_ L7 ‘ —_dL_”
86° Corner Mullion \ 200249
94° Corner Mullion
—
=7\
/A /,;;ﬁ’”’&" \\\
/?;\\\ (\(\/// T\’\E/ \
/4//-’0‘) N\ \r,\ﬁ 2
_=7" \ \ J
A _ax? \ =
- \J =
e 1:
R 3
W Bil Il
\ | 1
1 I
1 I
1 I
I m|
200248 %I 7 2
€I il
]]7"
3l
\ 9
)| Al :_::”::/’/
ﬁ‘_” -
! —-dL_7

104° Corner Mullion 200247

114° Corner Mullion

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.

1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.03L
Web Site: www.grahamwindows.com



Accessories — 3 1/4 Products EGRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3M
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

.
» 5 iz
e 3
Z Il >
I
ﬂ E |
_ 5, I
. %H‘
o) |
= - =
> Lz
3 P 9) | I
] i S
T =T
T rU li
N > || ||
o % :I |: 200258
! I
H i
— Y e l
! | r——==== ml
|_L:::__ E:I I:__J_I
200246 90* Corner Mullion |
Ly
90° Corner Mullion
Sy B
¢ 650119
:EI)
N
0
? 650118
©
S
o 850147

200108 / 90° Corner Mullion —|5/8"

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.
1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0721 — AC.03M
Web Site: www.grahamwindows.com

|——




Accessories — 3 1/4" Products

(5 GRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO3N
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

620241

300204

300203 620220

7/

—

=

300202

\ 200251

3 Piece Mullion — 168°

—={5/8" |a—1 1/2"—=15/8" |a—

3 Piece Mullion — Tube

990688
M/

ﬁ,,
L\ 990935

3" 5/8"

3 Piece Mullion — 4 }” Face

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.
1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.03N
Web Site: www.grahamwindows.com



Accessories — 3 1/4" Products

(5 GRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: ACO30
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

340545

/ 120800

Outside Corner Mullion - 90°
5/8" |~a—
340545 \ 5/8" ‘

120801

340545

ﬁl

|

|
1l
1l
LS
|
N

Inside Corner Mullion — 90°

|
|
m 1]
LLEM_::::__E@@L{
|

Y

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.
1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 0223 — AC.030
Web Site: www.grahamwindows.com



Accessories — GT Products 3 1/4 EGRAHAM

ARCHITECTURAL PRODUCTS

Series: Accessories Manufacturing Code: GTO3A
Drawing 1/2 Scale — For Custom Size Drawing Contact Graham @

Note: Sealant Not Shown On Details. Refer To General Installation Instructions.

850174

/— 340545

B

11/2

8

iy

Attachment Angle for 3 pc Mullion P/N 929308
Attach with #10 M.N. Screws (By Installer) @

ELEVATION

Sill End Mullion Connection
P/N 926776

End Dam

850175 850178 ——

End Dam ——

@ 990642
/ 850177

]

-1 1/;&

Graham Architectural Products reserves the right to change, add, cancel, remove or otherwise modify the details illustrated without prior notice.
1551 Mt. Rose Avenue, York, Pennsylvania 17403-2909 717.849.8100 Toll Free: 800/755-6274 ~ 0223 — AC.GT03A
Web Site: www.grahamwindows.com



	AC_03A_0423
	AC_03B_0323
	AC_03C_0323
	AC_03D_0323
	AC_03E_0323
	AC_03G_0323
	AC_03H_0323
	AC_03I_0323
	AC_03J_0323
	AC_03K_0323
	AC_03L_0323
	AC_03M_0323
	AC_03N_0323
	AC_03O_0323
	AC_GT03A_0323
	AC_03E_0624.pdf
	Sheets and Views
	Sales Manual





